
SI-1 
 

    Supporting Information 

P-amino ligands from iminosugars: New readily available and 

modular ligands for the enantioselective Pd-catalyzed allylic 

substitutions 

Carlota Borràs,a Pilar Elías-Rodríguez,b Ana T. Carmona,b Inmaculada Robina,b,* Oscar 

Pàmies,a,* and Montserrat Diégueza,* 

a Universitat Rovira i Virgili, Departament de Química Física i Inorgànica, Campus 

Sescelades, C/ Marcelꞏlí Domingo, 1. 43007, Tarragona, Spain.  

E-mail: oscar.pamies@urv.cat; montserrat.dieguez@urv.cat 
b Departamento de Química Orgánica, Universidad de Sevilla, E-41012, Seville, Spain. 

E-mail: robina@us.es 

 

SI.1. Characterization details and methods for ee determination of 

substitution products 13–35 

 

SI-2 

Table S1. Pd-catalyzed allylic substitution of substrates S1–S2 using 

dimethyl malonate as nucleophile with ligand L1a. Effect of the base 

 

SI-7 

SI-2. Copies of NMR spectra of new ligands L1–L7a–d  SI-8 

SI-3. Copies of NMR spectra of Pd-allyl intermediates 36–39 SI-44 

SI-4. Copies of NMR spectra of ligand intermediates 1–4, 8, 10 and 12 SI-52 

SI-5. References SI-60 

   



SI-2 
 

SI.1. Characterization details and methods for ee determination of substitution 

prodcuts 13–35  

Dimethyl 2-(1,3-diphenylallyl)malonate (13).1,2 Enantiomeric excess determined by HPLC 

using Chiralcel OJ-H column (87% hexane/2-propanol, flow 0.5 mL/min, λ= 254 nm). tR 32.8 

min (R); tR 38.6 min (S). 1H NMR (400 MHz, CDCl3), δ: 3.52 (s, 3H, CH3), 3.70 (s, 3H, CH3), 

3.95 (d, 1H, CH, J=10.9 Hz), 4.26 (m, 1H, CH), 6.34 (dd, 1H, CH=, J=16.0 Hz, J=8.4 Hz), 6.48 

(d, 1H, CH=, J=16.0 Hz), 7.1-7.4 (m, 10H, CH=).  

Dimethyl 2-(1,3-cyclohexanylallyl)malonate (14).2 Enantiomeric excess determined by GC 

using Chiralsil-Dex CB column (77 kPa H2, Isotherm at 110 ºC). tR 20.1 min (S); tR 20.5 min (R). 
1H NMR (400 MHz, CDCl3), δ: 1.36 (m, 1H, CH2), 1.56 (m, 1H, CH2), 1.70 (m, 1H, CH2), 1.76 

(m, 1H, CH2), 1.99 (m, 2H, CH2), 3.29 (d, 1H, CH, J=9.6 Hz), 3.73 (s, 3H, CH3), 3.74 (s, 3H, 

CH3), 5.22 (m, 1H, CH=), 5.79 (m, 1H, CH=). 

Diethyl 2-(1,3-diphenylallyl)malonate (15).3 Enantiomeric excess determined by HPLC using 

Chiralcel OJ-H column (87% hexane/2-propanol, flow 0.5 mL/min, λ= 254 nm). tR 17.6 min (S); 

tR 20.1 min (R). 1H NMR (400 MHz, CDCl3), δ: 1.01 (t, 6H, CH3, J=6.8 Hz), 3.92 (d, 1H, CH, 

J=11.2 Hz), 4.19 (q, 4H, CH2, J=7.2 Hz), 4.23 (m, 1H, CH), 6.34 (dd, 1H, CH=, J=20 Hz, J=10 

Hz), 6.41 (d, 1H, CH=, J=18 Hz), 7.1-7.4 (m, 10H, CH=). 

Dibenzyl 2-(1,3-diphenylallyl)malonate (16).3 Enantiomeric excess determined by HPLC using 

Chiralcel OJ-H column (95% hexane/2-propanol, flow 1 mL/min, λ= 254 nm). tR 94.0 min (R); 

tR 107.4 min (S). 1H NMR (400 MHz, CDCl3), δ: 4.03 (d, 1H, CH, J=9.6 Hz), 4.29 (t, 1H, CH, 

J=10 Hz), 4.92 (s, 2H, CH2), 5.09 (s, 2H, CH2), 6.28 (dd, 1H, CH=, J=15.6 Hz, J=8.4 Hz), 6.40 

(d, 1H, CH=, J=17 Hz), 7.0-7.4 (m, 20H, CH=). 

Dimethyl 2-(1,3-diphenylallyl)-2-methylmalonate (17).2 Enantiomeric excess determined by 

HPLC using Chiralcel OD-H column (90% hexane/2-propanol, flow 1 mL/min, λ= 254 nm). tR 

9.9 min (S); tR 12.5 min (R). 1H NMR (400 MHz, CDCl3), δ: 1.48 (s, 3H, CH3), 3.62 (s, 3H, 

CH3), 3.71 (s, 3H, CH3), 4.29 (d, 1H, CH, J=8.8 Hz), 6.46 (d, 1H, CH=, J=16.0 Hz), 6.68 (dd, 

1H, CH=, J=16.0 Hz, J=8.8 Hz), 7.1-7.4 (m, 10H, CH=). 

Dimethyl 2-allyl-2-(1,3-diphenylallyl)malonate (18).4 Enantiomeric excess determined by 

HPLC using Chiralcel OJ-H column (87% hexane/2-propanol, flow 0.5 mL/min, λ= 254 nm). tR 

19.4 min (R); tR 26.1 min (S). 1H NMR (400 MHz, CDCl3), δ: 2.48 (dd, 1H, CH2, J=14Hz, J=8.8 

Hz), 2.67 (dd, 1H, CH2, J=14 Hz, J=8.0 Hz), 3.66 (s, 3H, CH3), 3.75 (s, 3H, CH3), 4.20 (d, 1H, 



SI-3 
 

CH, J=8.8 Hz), 5.06 (m, 2H, CH2=), 5.77 (m, 1H, CH=), 6.40 (d, 1H, CH=, J=15.6 Hz), 6.77 

(dd, 1H, CH=, J=16.4 Hz, J=8.4 Hz), 7.2-7.4 (m, 10H, CH=). 

Diethyl 2-(but-3-en-1-yl)-2-(1,3-diphenylallyl)malonate (19).5 Enantiomeric excess 

determined by HPLC using Chiralcel OJ-H column (87% hexane/2-propanol, flow 0.15 mL/min, 

λ= 254 nm). tR 29.9 min (S); tR 34.2 min (R). 1H NMR (400 MHz, CDCl3), δ: 1.22 (m, 6H, CH3), 

1.97 (m, 2H, CH2), 2.08 (m, 2H, CH2), 3.98 (m, 2H, CH2), 4.17 (m, 3H, CH2), 4.89 (m, 2H, 

CH2=), 5.68 (m, 1H, CH=), 6.32 (d, 1H, CH=, J=16.0 Hz), 6.76 (dd, 1H, CH=, J=16.0 Hz, J=9.2 

Hz), 7.1- 7.4 (m, 10H, CH=). 

Diethyl 2-(1,3-diphenylallyl)-2-(pent-4-en-1-yl)malonate (20).5 Enantiomeric excess 

determined by HPLC using Chiralcel IA column (99% hexane/2-propanol, flow 0.5 mL/min, λ= 

254 nm). tR 12.3 min (S); tR 14.4 min (R). 1H NMR (400 MHz, CDCl3), δ: 1.20 (t, 3H, CH3, 

J=6.4 Hz), 1.26 (t, 3H, CH3, J=6.4 Hz), 1.31 (m, 1H, CH2), 1.45 (m, 1H, CH2), 1.74 (m, 1H, 

CH2), 1.86 (m, 1H, CH2), 1.96 (m, 2H, CH2), 4.18 (m, 5H, CH2-O, CH), 4.94 (m, 2H, CH2=), 

5.72 (m, 1H, CH=), 6.36 (d, 1H, CH=, J=15.6 Hz), 6.78 (dd, 1H, CH=, J=15.6 Hz, J=8.8 Hz), 

7.1-7.4 (m, 10H, CH=).  

Dimethyl 2-(1,3-diphenylallyl)-2-(prop-2-yn-1-yl)malonate (21).5 Enantiomeric excess 

determined by HPLC using Chiralcel OJ-H column (90% hexane/2-propanol, flow 0.5 mL/min, 

λ= 254 nm). tR 19.5 min (S); tR 41.7 min (R). 1H NMR (400 MHz, CDCl3), δ: 2.13 (m, 1H, CH), 

2.64 (dd, 1H, CH2, J=17.2 Hz, J=2.4 Hz), 2.82 (dd, 1H, CH2, J=14.2 Hz, J=2.8 Hz), 3.71 (s, 3H, 

CH3), 3.78 (s, 3H, CH3), 4.45 (d, 1H, CH, J=8.4 Hz), 6.46 (d, 1H, d, CH=, J=15.6 Hz,), 6.79 (t, 

1H, CH=, J=8.4 Hz), 7.31 (m, 10H, CH=).  

(1,3-diphenylallyl)pentane-2,4-dienone (22).4 Enantiomeric excess determined by HPLC using 

Chiralcel OJ-H column (98% hexane/2-propanol, flow 1 mL/min, λ= 254 nm). tR 53.1 min (S); tR 

56.9 min (R). 1H NMR (400 MHz, CDCl3), δ: 1.93 (s, 3H, CH3), 2.25 (s, 3H, CH3), 4.34 (m, 2H, 

CH), 6.20 (dm, 1H, CH=, J=15.6 Hz), 6.44 (d, 1H, CH=, J=15.6 Hz), 7.1-7.4 (m, 10H, CH=). 

N-benzyl-1,3-diphenylprop-2-en-1-amine (23).6 Enantiomeric excess determined by HPLC 

using Chiralcel OD-H column (99% hexane/2-propanol, flow 0.5 mL/min, λ= 254 nm). tR 22.4 

min (R); tR 26.2 min (S). 1H NMR (400 MHz, CDCl3), δ: 3.77 (d, 1H, NH, J=13.2 Hz), 3.80 (d, 

1H, CH, J=13.2 Hz), 4.41 (m, 2H, CH2), 6.34 (dd, 1H, CH=, J=16.0 Hz, J=7.2 Hz), 6.57 (d, 1H, 

CH=, J= 16.0 Hz), 7.1-7.4 (m, 15H, CH=).  



SI-4 
 

N-(4-Methoxybenzyl)-1,3-diphenylprop-2-en-1-amine (24).7 Enantiomeric excess determined 

by HPLC using Chiralcel OD-H column (95% hexane/2-propanol, flow 0.5 mL/min, λ= 254 

nm). tR 19.5 min (R); tR 28.3 min (S). 1H-NMR (400 MHz, CDCl3) δ: 3.73 (dd, 2H, J=16.9 Hz, 

J=13.2 Hz), 3.81 (s, 3H), 4.39 (d, 1H, J=7.2 Hz), 6.36 (dd, 1H, J = 15.8, J=7.2 Hz), 6.58 (d, 1H, 

J=15.8 Hz), 6.88 (m, 2H), 7.18-7.32 (m, 6H), 7.35 (m, 4H), 7.44 (m, 2H). 

1,3-Diphenyl-N-(4-(trifluoromethyl)benzyl)prop-2-en-1-amine (25).7 Enantiomeric excess 

determined by HPLC using Chiralcel OD-H column (95% hexane/2-propanol, flow 0.5 mL/min, 

λ= 254 nm). tR 15.9 min (R); tR 18.0 min (S). 1H-NMR (400 MHz, CDCl3) δ: 3.86 (dd, 2H, 

J=17.6 Hz, J=14.2 Hz), 4.39 (d, 1H, J=7.6 Hz), 6.33 (dd, 1H, J=15.9 Hz, J=7.6 Hz), 6.59 (d, 1H,  

J=15.9 Hz), 7.23 (m, 1H), 7.27-7.34 (m, 3H), 7.35-7.41 (m, 4H), 7.41-7.51 (m, 4H), 7.57-7-63 

(m, 2H). 19F-NMR (375 MHz, CDCl3) δ -62.3 (s, 3F, CF3).  

Dimethyl 2-(1,3-di-p-tolylallyl)malonate (26).8 Enantiomeric excess determined by HPLC 

using Chiralcel OD-H column (95% hexane/2-propanol, flow 0.5 mL/min, λ= 254 nm). tR 12.4 

min (S); tR 13.3 min (R). 1H NMR (400 MHz, CDCl3), δ: 2.32 (s, 6H, CH3), 3.52 (s, 3H, CH3), 

3.68 (s, 3H, CH3), 3.92 (d, 1H, CH, J= 6.2 Hz), 4.21 (m, 1H, CH), 6.14 (dd, 1H, CH=, J=16.4 

Hz, J=10.0 Hz), 6.43 (d, 1H, CH=, J=16.4 Hz), 7.10-7.30 (m, 8H, CH=).  

Dimethyl 2-(1,3-di-m-methoxyphenylallyl)malonate (27).8 Enantiomeric excess determined by 

HPLC using Chiralcel OJ-H column (87% hexane/2-propanol, flow 0.5 mL/min, λ= 254 nm). tR 

29.9 min (R); tR 40.5 min (S). 1H NMR (400 MHz, CDCl3), δ: 2.29 (s, 3H, CH3), 2.45 (s, 3H, 

CH3), 3.53 (s, 3H, CH3), 3.74 (s, 3H, CH3), 4.08 (d, 1H, CH, J=11.6 Hz), 4.58 (m, 1H, CH), 6.03 

(dd, 1H, CH=, J=15.6 Hz, J=8.4 Hz), 6.68 (d, 1H, CH=, J=15.6 Hz), 7.10-7.35 (m, 8H, CH=).  

Dimethyl 2-(1,3-di-o-tolylallyl)malonate (28).8 Enantiomeric excess determined by HPLC 

using Chiralcel OJ-H column (87% hexane/2-propanol, flow 0.5 mL/min, λ= 254 nm). tR 13.2 

min (R); tR 18.8 min (S). 1H NMR (400 MHz, CDCl3), δ: 3.54 (s, 3H, CH3), 3.70 (s, 3H, CH3), 

3.78 (s, 3H, CH3), 3.79 (s, 3H, CH3), 3.96 (d, 1H, CH, J=10.8 Hz), 4.24 (m, 1H, CH), 6.31 (dd, 

1H, CH=, J=16.0 Hz, J=8.8 Hz), 6.48 (d, 1H, CH=, J=16.0 Hz), 6.76 (m, 2H, CH=), 6.85 (m, 

2H, CH=), 6.90 (m, 2H, CH=), 7.23 (m, 2H, CH=).  

Dimethyl 2-(1,3-diisopropylallyl)malonate (29).2 Enantiomeric excess determined by 1H NMR 

using [Eu(hfc)3] in C6D6. 1H NMR (400 MHz, CDCl3), δ: 0.81 (d, 3H, CH3, J=6.8 Hz), 0.87 (d, 

3H, CH3, J=6.8 Hz), 0.93 (d, 3H, CH3, J=6.8 Hz), 0.95 (d, 3H, CH3, J=6.8 Hz), 1.69 (m, 1H, 

CH), 2.25 (m, 1H, CH), 2.58 (m, 1H, CH), 3.51 (d, 1H, CH, J=10.0 Hz), 3.66 (s, 3H, CH3), 3.71 



SI-5 
 

(s, 3H, CH3), 5.23 (dd, 1H, CH=, J=15.2 Hz, J=10.0 Hz), 5.44 (dd, 1H, CH=, J=15.2 Hz, J=6.8 

Hz).  

Dimethyl 2-(1,3-cyclohexanylallyl)-2-methylmalonate (30).9 Enantiomeric excess determined 

by HPLC using Chiralpak IC column (99.5% hexane/2-propanol, flow 0.5 mL/min, λ= 226 nm). 

tR 36.4 min (-); tR 39.7 min (+). 1H NMR (400 MHz, CDCl3), δ: 1.29 (s, 3H, CH3), 1.51 (m, 2H, 

CH2), 1.58 (m, 2H, CH2), 1.92 (m, 2H, CH2), 2.99 (m, 1H, CH), 3.68 (s, 6H, CH3), 5.43 (m, 1H, 

CH=), 5.74 (m, 1H, CH=).  

Dimethyl 2-allyl-2-(1,3-cyclohexanylallyl)malonate (31).5 Enantiomeric excess determined by 

HPLC using Chiralpak IC column (87% hexane/2-propanol, flow 0.5 mL/min, λ= 226 nm). tR 

15.3 min (-); tR 17.0 min (+). 1H NMR (400 MHz, CDCl3), δ: 1.49 (m, 2H, CH2), 1.77 (m, 2H, 

CH2), 1.91 (m, 2H, CH2), 2.65 (m, 2H, CH2), 2.86 (m, 1H, CH), 3.65 (s, 3H, CH3), 3.68 (s, 3H, 

CH3), 5.06 (m, 2H, CH2=), 5.71 (m, 3H, CH=). 

Dimethyl 2-propargyl-2-(1,3-cyclohexanylallyl)malonate (32).10 Enantiomeric excess 

determined by GC using Chiraldex β-DM column (90 kPa H2, 110 ºC, 40 min- 5 ºC/min- 150 

ºC). tR 50.0 min (S); tR 51.2 min (R). 1H NMR (400 MHz, CDCl3), δ: 1.33 (m, 2H, CH2), 1.52 

(m, 1H, CH2), 1.77 (m, 2H, CH2), 1.92 (m, 1H, CH2), 2.00 (m, 1H, CH), 3.03 (m, 2H, CH2), 3.09 

(m, 1H, CH), 3.68 (s, 3H, CH3), 3.72 (s, 3H, CH3), 5.67 (m, 1H, CH=), 5.74 (m, 1H, CH=).  

(1,3-cyclohexanylallyl)pentane-2,4-dienone (33).5 Enantiomeric excess determined by GC 

using Chiralsil-Dex CB column (77 kPa H2, Isotherm at 100 ºC). tR 21.6 min (-); tR 22.4 min (+). 
1H NMR (400 MHz, CDCl3), δ: 1.48 (m, 2H, CH2), 1.62 (m, 2H, CH2), 1.91 (m, 2H, CH2), 2.09 

(s, 3H, CH3), 2.12 (s, 3H, CH3), 2.94 (m, 1H, CH), 3.54 (d, 1H, CH, J=10.8 Hz), 5.30 (m, 1H, 

CH=), 5.70 (m, 1H, CH=).  

Dimethyl 2-(1,3-cycloheptanylallyl)malonate (34).2 Enantiomeric excess determined by GC 

using Chiralsil-Dex CB column (90 kPa H2, Isotherm at 110 ºC). tR 28.8 min (S); tR 29.7 min (R). 
1H NMR (400 MHz, CDCl3), δ: 1.33 (m, 1H, CH2), 1.95 (m, 3H, CH2), 2.17 (m, 2H, CH2), 3.05 

(m, 2H, CH2), 3.31 (m, 1H, CH), 3.49 (d, 1H, CH, J=8.4 Hz), 3.73 (s, 3H, CH3), 3.75 (s, 3H, 

CH3), 5.60 (m, 1H, CH=), 5.84 (m, 1H, CH=).  

Dimethyl 2-propargyl-2-(1,3-cycloheptanylallyl)malonate (35).5 Enantiomeric excess 

determined by HPLC using Chiralpak OJ-H column (98% hexane/2-propanol, flow 0.5 mL/min, 

λ= 226 nm). tR 11.3 min (R); tR 12.0 min (S). 1H NMR (400 MHz, CDCl3), δ: 1.24 (m, 2H), 1.70 



SI-6 
 

(m, 2H, CH2), 1.83 (m, 1H, CH2), 2.03 (m, 2H, CH2, CH), 2.16 (m, 2H, CH2), 2.84 (m, 2H, 

CH2), 3.18 (m, 1H, CH), 3.74 (s, 6H, CH3), 5.66 (m, 1H, CH=), 5.84 (m, 1H, CH=). 

  



SI-7 
 

Table S1. Pd-catalyzed allylic substitution of substrates S1–S2 using dimethyl malonate 

as nucleophile with ligand L1a. Effect of the base.a 

  
 

 

 

Entry Salt % Conv (% ee)b  % Conv (%ee)c 

1 KOAc 100 (80 (R))  100 (75 (R)) 

2 NaOAc 100 (79 (R))  100 (75 (R)) 

3 LiOAc 100 (79 (R))  100 (73 (R)) 

4 CsOAc 100 (73 (R))  100 (74 (R)) 

5 DBU 100 (64 (R))  100 (56 (R)) 

6 Cs2CO3 100 (74 (R))  100 (72 (R)) 

7 K2CO3 100 (79 (R))  100 (72 (R)) 
a 0.5 mol% [PdCl(η3-C3H5)]2, ligand (0.011 mmol), substrate (1 mmol), CH2Cl2 (2 mL), BSA (3 eq), dimethyl 
malonate (3 eq), salt (0.05 mmol). b Conversion percentage determined by 1H-NMR measured after 6 h. 
Enantiomeric excesses, measured by chiral HPLC, shown in parentheses. c Conversion percentage determined by 
1H-NMR measured after 12 h. Enantiomeric excesses, measured by chiral GC, shown in parentheses. 



SI-8 
 

SI-2. Copies of NMR spectra of new ligands L1–L7a–d 

 

 
 

 
 

 

 

 

 

 

 

 

 

 

 

Figure S1. 31P NMR spectrum of compound L1a (C6D6, 161.9 MHz) 



SI-9 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Figure S2. 1H NMR spectrum of compound L1a (C6D6, 400 MHz) 



SI-10 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S3. 13C NMR spectrum of compound L1a (C6D6, 100.6 MHz)  



SI-11 
 

                                                                                                                                                                            
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S4. 31P NMR spectrum of compound L1b (C6D6, 161.9 MHz)   



SI-12 
 

                                                                                                                                                                                 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S5. 1H NMR spectrum of compound L1b (C6D6, 400 MHz) 



SI-13 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S6. 13C NMR spectrum of compound L1b (C6D6, 100.6 MHz) 



SI-14 
 

                               
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Figure S7. 31P NMR spectrum of compound L1c (C6D6, 161.9 MHz) 



SI-15 
 

                                                                                               
 

 

 

 

 

 

 

 

 

 

 

 

Figure S8. 1H NMR spectrum of compound L1c (C6D6, 400 MHz) 



SI-16 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Figure S9. 13C NMR spectrum of compound L1c (C6D6, 100.6 MHz)  



SI-17 
 

   
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S10. 31P NMR spectrum of compound L1d (C6D6, 161.9 MHz )   



SI-18 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S11. 1H NMR spectrum of compound L1d (C6D6, 400 MHz) 



SI-19 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S12. 13C NMR spectrum of compound L1d (C6D6, 100.6 MHz)   



SI-20 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S13. 31P NMR spectrum of compound L2a (C6D6, 161.9 MHz) 



SI-21 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S14. 1H NMR spectrum of compound L2a (C6D6, 400 MHz) 



SI-22 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S15. 13C NMR spectrum of compound L2a (C6D6, 100.6 MHz) 



SI-23 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S16. 31P NMR spectrum of compound L3a (C6D6, 161.9 MHz) 



SI-24 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S17. 1H NMR spectrum of compound L3a (C6D6, 400 MHz) 



SI-25 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S18. 13C NMR spectrum of compound L3a (C6D6, 100.6 MHz) 



SI-26 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S19. 31P NMR spectrum of compound L4a (C6D6, 161.9 MHz) 



SI-27 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S20. 1H NMR spectrum of compound L4a (C6D6, 400 MHz) 



SI-28 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S21. 13C NMR spectrum of compound L4a (C6D6, 100.6 MHz) 
 



SI-29 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S22. 31P NMR spectrum of compound L4b (C6D6, 161.9 MHz) 
 



SI-30 
 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S23. 1H NMR spectrum of compound L4b (C6D6, 400 MHz) 
 



SI-31 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S24. 13C NMR spectrum of compound L4b (C6D6, 100.6 MHz) 



SI-32 
 

O O

N
O P

Ph

Ph

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S25. 31P NMR spectrum of compound L5 (C6D6, 161.9 MHz) 



SI-33 
 

O O

N
O P

Ph

Ph

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S26. 1H NMR spectrum of compound L5 (C6D6, 400 MHz) 



SI-34 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S27. 13C NMR spectrum of compound L5 (C6D6, 100.6 MHz) 
 



SI-35 
 

 
 
 

O O

N
PPh2

 
 
 
 
 
 
 
 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

Figure S28. 31P NMR spectrum of compound L6 (C6D6, 202 MHz)   



SI-36 
 

 

O O

N
PPh2

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S29. 1H NMR spectrum of compound L6 (C6D6, 500 MHz)   



SI-37 
 

 
 
 

O O

N
PPh2

 
 

 

 

 

 

 

 

 

 

 

 

Figure S30. 13C NMR spectrum of compound L6 (C6D6, 125.7 MHz) 



SI-38 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S31. 31P NMR spectrum of compound L7a (C6D6, 161.9 MHz) 



SI-39 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S32. 1H NMR spectrum of compound L7a (C6D6, 400 MHz) 



SI-40 
 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S33. 13C NMR spectrum of compound L7a (C6D6, 100.6 MHz) 



SI-41 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S34. 31P NMR spectrum of compound L7b (C6D6, 161.9 MHz) 



SI-42 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S35. 1H NMR spectrum of compound L7b (C6D6, 400 MHz) 



SI-43 
 

N

O

O
O P

O

O

Me3Si

Me3Si

Sax

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Figure S36. 13C NMR spectrum of compound L7b (C6D6, 100.6 MHz) 



SI-44 
 

SI-3. Copies of NMR spectra of Pd-allyl intermediates 36–39 

[Pd(η3-1,3-cyclohexenyl)(L1a)]BF4 (36)  

 

Figure S37. 31P NMR spectrum of compound [Pd(η3-1,3-cyclohexenyl)(L1a)]BF4 (36) (CD2Cl2, 
161.9 MHz) 
 

 

Figure S38. 1H NMR spectrum of compound [Pd(η3-1,3-cyclohexenyl)(L1a)]BF4 (36) (CD2Cl2, 
400 MHz) 
 

N

Pd P

O

O

36 exo
Major (8)

N

Pd P

O

36 endo
Minor (1)

O
O

O
O

O

SiMe3

Me3Si

O
O

SiMe3

Me3Si



SI-45 
 

 

 

Figure S39. 13C NMR spectrum of compound [Pd(η3-1,3-cyclohexenyl)(L1a)]BF4 (36) (CD2Cl2, 
100.6 MHz) 
 

 

Figure S40. 1H-1H NOESY NMR spectrum of compound [Pd(η3-1,3-cyclohexenyl)(L1a)]BF4 

(36) (CD2Cl2 400 MHz)  



SI-46 
 

[Pd(η3-1,3-cyclohexenyl)(L1b)]BF4 (37) 

 

 

Figure S41. 31P NMR spectrum of compound [Pd(η3-1,3-cyclohexenyl)(L1b)]BF4 (37) (CD2Cl2, 
161.9 MHz) 

 

Figure S42. 1H NMR spectrum of compound [Pd(η3-1,3-cyclohexenyl)(L1b)]BF4 (37) (CD2Cl2, 
400 MHz) 
  



SI-47 
 

 

Figure S43. 13C NMR spectrum of compound [Pd(η3-1,3-cyclohexenyl)(L1b)]BF4 (37) (CD2Cl2, 
100.6 MHz) 
 

 
Figure S44. 1H-1H NOESY NMR spectrum of compound [Pd(η3-1,3-cyclohexenyl)(L1b)]BF4 

(37) (CD2Cl2 400 MHz) 
  



SI-48 
 

[Pd(η3-1,3-diphenylallyl)(L1a)]BF4 (38) 

 

 

Figure S45. 31P NMR spectrum of compound [Pd(η3-1,3-diphenylallyl)(L1a)]BF4 (38) (CD2Cl2, 
161.9 MHz) 
 

 

Figure S46. 1H NMR spectrum of compound [Pd(η3-1,3-diphenylallyl)(L1a)]BF4 (38) (CD2Cl2, 
400 MHz) 
 

N
Pd P

O

O
O

N
Pd P

O

O
O

O
O

O
O

38 exo
Major (2.2)

38 endo
Minor (1)

Ph

Ph Ph

Ph

SiMe3

Me3Si

SiMe3

Me3Si



SI-49 
 

 

Figure S47. 13C NMR spectrum of compound [Pd(η3-1,3-diphenylallyl)(L1a)]BF4 (38) (CD2Cl2, 
100.6 MHz) 
 

 
Figure S48. 1H-1H NOESY NMR spectrum of compound [Pd(η3-1,3-diphenylallyl)(L1a)]BF4 

(38) (CD2Cl2 400 MHz) 
  



SI-50 
 

[Pd(η3-1,3-diphenylallyl)(L4a)]BF4 (39) and [Pd(η3-1,3-diphenylallyl)(L4a)2]BF4 

 

 

 

Figure S49. 31P NMR spectrum of compound [Pd(η3-1,3-diphenylallyl)(L4a)]BF4 (39) and 
[Pd(η3-1,3-diphenylallyl)(L4a)2]BF4 (CD2Cl2, 161.9 MHz) 
 

 
Figure S50. 1H NMR spectrum of compound [Pd(η3-1,3-diphenylallyl)(L4a)]BF4 (39) and 
[Pd(η3-1,3-diphenylallyl)(L4a)2]BF4 (CD2Cl2, 400 MHz) 



SI-51 
 

 

Figure S51. 13C NMR spectrum of compound [Pd(η3-1,3-diphenylallyl)(L4a)]BF4 (39) and 
[Pd(η3-1,3-diphenylallyl)(L4a)2]BF4 (CD2Cl2, 100.6 MHz) 
 

 

Figure S52. 1H-1H NOESY NMR spectrum of compound [Pd(η3-1,3-diphenylallyl)(L4a)]BF4 

(39) and [Pd(η3-1,3-diphenylallyl)(L4a)2]BF4 (CD2Cl2 400 MHz)  



SI-52 
 

SI-4. Copies of NMR spectra of ligand intermediates 1–4, 8, 10 and 12 

(2S,3S,4R)-N-Methyl-2-hydroxymethyl-3,4-O-isopropyliden-pyrrolidine-3,4-diol (1) 

 

 

Figure S53. 1H NMR spectrum of compound 1 (CDCl3, 300 MHz) 
 

 

Figure S54. 13C NMR spectrum of compound 1 (CDCl3, 75.4 MHz) 

 



SI-53 
 

(2S,3S,4R)-N-Benzyl-2-hydroxymethyl-3,4-O-isopropyliden-pyrrolidine-3,4-diol (2) 

 

 

Figure S55. 1H NMR spectrum of compound 2 (CDCl3, 300 MHz) 
 

 

Figure S56. 13C NMR spectrum of compound 2 (CDCl3, 75.4 MHz) 

 



SI-54 
 

(2S,3S,4R)-N-Isopropyl-2-hydroxymethyl-3,4-O-isopropyliden-pyrrolidine-3,4-diol 
(3) 

 

Figure S57. 1H NMR spectrum of compound 3 (CDCl3, 300 MHz) 
 

 

Figure S58. 13C NMR spectrum of compound 3 (CDCl3, 75.4 MHz) 



SI-55 
 

(2S,3R,4S)-N-Methyl-2-hydroxymethyl-3,4-O-isopropyliden-pyrrolidine-3,4-diol (4) 

 

 

Figure S59. 1H NMR spectrum of compound 4 (CDCl3, 300 MHz) 
 

 

Figure S60. 13C NMR spectrum of compound 4 (CDCl3, 75.4 MHz) 



SI-56 
 

(2S,3S,4R)-2-Hydroxymethyl-3,4-O-isopropyliden-pyrrolidine-3,4-diol (8) 

 

Figure S61. 1H NMR spectrum of compound 8 (CDCl3, 300 MHz) 
 

 

Figure S62. 13C NMR spectrum of compound 8 (CDCl3, 75.4 MHz) 



SI-57 
 

(2S,3R,4S)-N-terc-Butoxycarbonyl-2-hydroxymethyl-3,4-O-isopropyliden-
pyrrolidine-3,4-diol (10) 

 

Figure S63. 1H NMR spectrum of compound 10 (DMSO-d6, 363 K, 500 MHz) 

 

Figure S64. 13C NMR spectrum of compound 10 (DMSO-d6, 363 K, 125.7 MHz) 



SI-58 
 

(2S,3R,4S)-2-Diphenylphosphinomethyl-3,4-O-isopropyliden-pyrrolidine-3,4-diol 

(12) 

 

Figure S65. 31P NMR spectrum of compound 12 (CDCl3, 300 MHz) 
 

 

Figure S66. 1H NMR spectrum of compound 12 (CDCl3, 300 MHz) 
 



SI-59 
 

 

Figure S67. 13C NMR spectrum of compound 12 (CDCl3, 75.4 MHz) 

 

 

  



SI-60 
 

SI-5. References 
 

(1) Ramillien, M.; Vanthuyne, N.; Jean, M.; Gherase, D.; Giorgi, M.; Naubron, J.-V.; Piras, P.; 

Roussel, C. Enantiomers of Dimethyl [(2E)-1,3-Diphenylprop-2-en-1-yl]propanedioate Resulting 

From Aallylic Alkylation Reaction: Elution Order on Major High-Performance Liquid 

Chromatography Chiral Columns. J. Chromatography A 2012, 1269, 82–93. 

(2) Evans, D. A.; Campos, K. R.; Tedrow, J. S.; Michael, F. E.; Gagné, M. R. Application of 

Chiral Mixed Phosphorus/Sulfur Ligands to Palladium-Catalyzed Allylic Substitutions. J. Am. 

Chem. Soc. 2000, 122, 7905–7920.   

(3) Tanaka, Y.; Mino, T.; Akita, K.; Sakamoto, M.; Fujita, T. Development of Chiral (S)-

Prolinol-Derived Ligands for Palladium-Catalyzed Asymmetric Allylic Alkylation: Effect of a 

Siloxymethyl Group on the Pyrrolidine Backbone. J. Org. Chem. 2004, 69, 6679–6687. 

(4) Dugal-Tessier, J.; Dake, G. R.; Gates, D. P. Chiral Phosphaalkene-Oxazoline Ligands For 

The Palladium-Catalyzed Asymmetric Allylic Alkylation. Org. Lett. 2010, 12, 4667–4669. 

(5) Bellini, R.; Magre, M.; Biosca, M.; Norrby, P.-O.; Pàmies, O.; Diéguez, M.; Moberg, C. 

Conformational Preferences of a Tropos Biphenyl Phosphinooxazoline–a Ligand with Wide 

Substrate Scope. ACS Catalysis 2016, 6, 1701–1712. 

(6) Diéguez, M.; Pàmies, O.; Claver, C. Modular Furanoside Diphosphite Ligands for 

Pd‐Catalyzed Asymmetric Allylic Substitution Reactions: Scope and Limitations. Adv. Synth. 

Catal. 2005, 347, 1257–1266. 

(7) Liu, Q.-L.; Chen, W.; Jiang, Q.-Y.; Bai, X.-F.; Li, Z.; Xu, Z.; Xu, L.-W. A 

D‐Camphor‐Based Schiff Base as a Highly Efficient N,P Ligand for Enantioselective 

Palladium‐Catalyzed Allylic Substitutions. ChemCatChem 2016, 8, 1495–1499. 

(8) Mei, L.-Y.; Yuan, Z.-L.; Shi, M. Chiral Imidazoline–Phosphine Ligands for Palladium-

Catalyzed Asymmetric Allylic Substitutions. Organometallics 2011, 30, 6466–6475. 

(9) Leitner, A.; Larsen, J.; Steffens, C.; Hartwig, J. F. Palladium-Catalyzed Addition of Mono- 

and Dicarbonyl Compounds to Conjugated Dienes. J. Org. Chem. 2004, 69, 7552–7557. 

(10) Coll, M.; Pàmies, O.; Diéguez, M. Highly Versatile Pd–Thioether–Phosphite Catalytic 

Systems for Asymmetric Allylic Alkylation, Amination, and Etherification Reactions. Org. Lett. 

2014, 16, 1892–1895. 


